CHAPTER 7 I™ 7 PUZZLES
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ubstituted for another. As you work out each letter, write it in the box below
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wherever it occurs. Single letters will almost invariably be ‘A’ or T. Keep an eye out for common words such as ‘THE, AND’, ‘AS’, ‘TO’, and
‘IT. Double letters and contractions can also be a starting point. Can you crack the code to work out this quote by Eleanor Roosevelt?
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Our cryptogram is a letter substitution puzzle. One letter is s
U|S|J|E|V| |-| |H|Z|U| |M|Z|G| |B|B

Do what you feel in your heart to be

CRYPTOGRAM

SOLUTION:




